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H&ATt ytar 2023-24 

HRAT 05| 

HT 5.2333. 

6. (14, 35) 

Number 5.2333........ is alan 
(a) Rational number 
(c) An integer 

fdyy : Tijd 

AUg- # (SECTION-A) (1x20=20) 

(rforT-10) 

5. -2, -5 

(b) Irrational Number 
(d) None of these 

4. (18, 25) 
Which of the following is a pair of Co-prime numbers? 
(a) (14, 35) (b) (18,25) 
15, 18 T 24 TLCM -

. 90 a 120 

Find the L.C.M. of 15, 18 and 24 
(a) 90 (b) 120 
Ag4G x2 + 7x + 10 # 4 

. 2,-5 

1. (31, 93), 

(1) 

(c) (31,93) 

TT. 240 

(c) 240 

T. 2, 5 

quris :70 

(32, 62) 

(d) (32, 62) 

360 

(d) 360 

a.-2, 5 

(1) 

() 

(1) 

(1) 

(P.T.O.) 
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5. 

6. 

7. 

8. 

9. 

10. 

The zeroes of the polynomial x2+7x+ 10 will be : 
(a) -2,-5 
g4G 3x2+ 5x +2 $ Hd 
. 5. 

. 1: 

The sum of zeroes of the polynomial 3x2+5x-2 is: 
(a) 5 

(a) 1 

. 

(c) Two solution 

(a) 10 

. 1 

The sum of the zeroes of the quadratic polýnomial kx2 � 4x +7 is 1 
then the value of kis: 

(c) -1 (d) 4 
q4 2x +3y =5 1T 4x +6y=15 TgGI -

YI Hou 2x + ky =1 

g. 4 

Ifx2 

(b) 2,-5 

The pair of equations 2x + 3y =5 and 4x + 6y = 15 has: 
(a) No solution (b) Unique solution 

3 

(a) t 

(Tforc-10) 

(b) 4 

(b) 

1 
9 

3 

9 

T. -1 

uf x-=0 4 x=0, 

(b) 

lIf equation 2x + ky= 1 and 3x-5y =7 is parallel, then the value of k 
will be: 

(c) 2, 5 
-

The solution of linear pair equation x=0 and x=5 
(a) 1 (b) 2 (c) Infinite 

-10 

=0, then x= 

(b) 

(c) -5 

(d) None of these 

. 

a.-4 

(2) 

T. -13 

(d) -2,5 

(c) -13 

T 3X� 5y =7 HHR e k oT HIH 

(d) 3 
5 

(c) 0 

(1) 

|. 0 

(1) 

(d) None of these 

(1) 

(d) None of these 

(1) 

(1) 

(d) None of these 
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11. 

12. 

13. 

14. 

15. 

16. 

17. 

18. 

, 3 

. 2 

The roots of equation 3x2-6x+k=0 are equal the k is equal to : 
(a) 3 

$. 3 

(a) 3 

. 200 

. ab 

. 6 

. 2:3 

(b) 6 

Ifx, 2x-1,2x+1are three consecutive terms of an A.P., then x =0 
(a) 2 

. 1 

. 11 

(b) 1 

(a) 11 

T, 9 

. 2 

(uftG-10) 

(c) 9 

(b) 2 

T. 3 

(c) 3 

The nh term of an arithmetic progression is 2n + 1, its common 
difference is: 

T. 4 

(c) 4 

. 100 

The sum of first 10 odd natural numbers will be: 
(a) 200 (b) 100 
uft farg (a, 0), (0, b) TeT (1,1) 

. 2 ab 
ab 

. 12 

T. 400 

(b) 12 

a. 12 

(3) 

(c) 

(d) 12 

If the points (a, 0), (0, b) and (1, 1) are collinear, the a + b 
(a) ab (b) 2 ab 

ab 

(d) None of these 

(c) 400 
Ra~ t a+b= 

1 

.5 

T. 8 

(d) 5 

(c) 8 

T. 81 : 16 

1 
2ab 

a. 50 

(d) 50 

(d) 1 

Sides of two similar triangles are in the ratio of 9:4, then the ratio of 
the areas of these triangles is: 
(a) 2:3 (b) 4:9 (c) 81:16 (d) 16:18 
fergit A(-1,3) FeT B (5,2) º ra qâi (go1 ) 

. V17 T. 5 
The distance between the points (-1,3) and (5, 2) is : 
(a) V17 units 

2ab 

16 :18 

() 

a. v61 

(1) 

a. 10 

(1) 

Area of the triangle whose vertices are 0 (0,0), A(6, 0) and B (0,4) is: 

(d) 10 

(1) 

(1) 

(d) v61 units 
HADA (1) 

(1) 

(P.T.O.) 

(b) N37 units (c) 5 units 
fergit o (0,0), A(6, 0) TRT B (0,4) g+ fryvi 
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19. 

20. 

1. 

2. 

AABC DEJJBC TT 

F. 

(a)) 
Ina AABC, DE|BCAND 

. 

T. 

G. 

4 

(rfoTT-10) 

AD 

5 
. 8 

fiE 

5 

DB 3 

(C) 

5 

If roots of the equation 3x-4X +a=0are equal, then a is equal to: (a) 3 (b) 4 

|. 0 

AE 

then 

AC 

(c) 0 

AE 

(4) 

AC 

gug- (SECTION-B) (2x5=10) 

(d) None of these 

Find the length ofa tangent drawn from a point 8 cm. away from the centre of the circle fo radius 6 cm. 

If Sin9=then find the value of tan 0. 5 

Answer the following questions onlythree. 

Y Sin 60°=2 Sin 30 .Cos 30° 
Prove that Sin 60°=2Sin 30. Cos 30° 

(d) 4 

(2) 

(2) 

(2) 

Ifx coordinate of a point is zero, then where this point lie? 
U fag (a, 0), (1, -1) T (11, 4) HTÈ t a 1 H|7 ^IT 

(2) 

If (a,0), (1,-1) and (11,4) are colliner, then find the value of a. 
HHR ujt 14, 9, 4, -1, -6...1 12qi yG SIT IYI (2) 
Find the 12th term ofA.P. 14,9,4,-1,-6, .... 

(2) 

(3x4= 12) 
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9.3 

Prove that 3 +2 V5 is a irrational numbers. 
G. uf qEYG f(x) = ax?-6x +4 6 Hol T g9A 4 a 

. 

(ufor-10) 

Find the quadratic polynomial whose zeroes are 5 and-3. 
tfyco Hiou yHx +2y= 19 

If the product of the zeroes of the polynomial f (x) = ax?-6x+ 
4 is 4. Find the value of a. 

Solve any three questions: 

(4) 

-X + 2y = 1 0 yery fate 3 

(4) 
Solve the pair of linear equations x+2y=19 

-X+2y =1 by substitution 
method. 

3x-y-5=0; 

(4) 

H3d T HCF 27 GeT LCM 162 } y yF HRT 54 

6x-2y-k=0 

The HCF of two numbers is 27 and their LCM is 162. If one of 
the numbers is 54. Find the other. 

3x-y-5= 0; 
6x-2y-k=0 

(3x4 =12) 

(4) 

(5) 

Find the value of k so that the following system of equation has no. solution : 

(4) 

(4) The sum of two numbers is 8 and sum of their reciprocal is 8/15. Find the numbers. 

(4) 
The products of the digits of a two digit number is 18 when 63 
is subtracted from the number, We get a number where the 
order of the digits gets reversed. Find the number. 

(P.T.0.) 
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4 

9.5 

Solve any one part: 
. 

. 

uf 
f 

farg (a, 0), (0, b) T (x, y) RT TE fE ifr 
X + 

a b 

b+c 

If three points (a, 0), (0, b) and (x, y) are colinear, then prove 

that: X +=1 

=1 

b 

1. 1 

34t OR 

Solve the equation of : 

C+a 

HGT YOAABC fTÀ 
BC2 =ACx CD t MG 

LetABOC be a triangle in which AB =AC and D is a point on AC 

(-()-5=0 

6(-4(-5=0 

1 

AB = AC TT AC R yo faDR 
Ýy f BD= BC 

a+b 

3TeT OR 

Ifa2, b2, c²are in A.P., Prove that 
are also inA.P. 

(6) 

(3x8=24) 

1 
b+c 

1 
C+a 

(8) 

1 

(1x8=8) 

1 
a+b 

(8) 

(8) 

Such that BC2= ACx CD. Prove that BD = BC. 
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